\1./ These were the dynasties that ruled Rajasthan :

(@  Guhilas Dynasty (b)  Guhilot Dynasty () Parmar Dynasty

(d) Sinsinwar Dynasty e Harihara Dynasty

Choose the most appropriate answer from the options given below :

(A) (b, (c) (d) and (e) only B)  (a), (c) (d)and (e) only © (a), (b), (c)and (d) only

(D)  (¢)(d)and (e) only ()  Question notattempted

TSTEAT H I H A1 Tefar 3 9 -

(@) TfeeT st b e TeEw (© TERISEN

CYREEEIREC IES © eReTsEw

A fR T et & < warifiren swer o &

@) F (b), (0), (d) 3R e) ®) ¥ (a), (o), (d) 3 (e) © ¥ (@), (b),(c) (D)

(D) &9 (c), (d) 3R (e) ® TaRa T

2. ‘Typhoid Mary’ nickname was givento:

(A)  MaryMallon (B) Mary Cheng (©) MaryMascon

(D) MaryKom (E)  Question notattempted

"TEEES HY' ST 1 fo o am

@) T ddm ® = © FH=E

O) #TFm ® ouRawE

\3/‘Literature and cultural activities flourished during the period 6f Rawal Samar Singh (1273-1302 CE) in Chittorgarh.

The famous architect/ artisans of the time were : ' £

(@ PadmSingh (b)  KelSingh (¢) === Shilpi Keylan

(d)  Shilpi Karma (6 AmitSinghSuri = {
Choose the most appropriate answer from the options givenbelow :

(A)  (b),(c), (d) and (¢) only B) (), (b)(c)and (¢) only

©  (a).(c)(d)and (e) only @)  (a), (b), (c)and (d) only

(E) Questionnotattempted .
ﬁﬁgﬂgﬁwwfﬁg(lzm—woz@)%mﬁmaﬂzmwﬁrﬁﬁ:ﬁwﬁ—%ﬁ,wm%m
ARG/ FUR Y : ‘ i
@ e ) wafhE © forcdt Feem ;
d) et i (9 efi e qd
S feg T faenedl | § WAl SUge S 9 : L. :

® @), () (O @ ]

(4) , e (b), (), (d) 3R (e)
© & (a), (o), (d) ¥R (o)

Which of the following constitute a food chain ?

(D) W(a)} (), () 3R (d)

~ (Choose the most appropriate option from below) -
(A) Goat, Cowand Elephant (B) Grass,. Fish and Goat (©  Grass, Wheatand Mango
(D) Grass, Goat and Hu'man (E)  Question notattempted
Freafafaa & @ S @ Sac i aa § 2
(Fr=r & @ T Suger faded I1) ‘
) m'qmsﬁ'(gliﬁ (B) I, HET 3N T : © W,ﬁiaﬂ'(m
®) TR A

(o) T, T A
2
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._;/ Which of the following trees is the “Kalpavriksha of Thar” ?

(B) Mangotree ©  Gooler tree

(A)  Khejritree
(E)  Question not attempted

(D)  Jamun tree
Feafafea f A s @ 8 IR #1 Feagy’’ &2

a) T B FHFIS © TRFT
Food cans are coated with Tin and not with Zinc because: =

(A)  Tinis less reactive than Zinc (B)  Tin has lower melting point than Zinc

(©  Tinis cheaper than Zinc (D)  Tinis more reactive than Zinc

(E)  Question notattempted

@ #7 (Food cans) 1 3% %1 A fof S fararm St 3 e -

&) =, i @ w9 frawia $ B) o 1 e ik F qor § w9 e &
© T, Nw @ g=n e & D) T, e @ sifies framitar
B)  STFaRa we

The frequency of the alternating current supplied to houses in India is :
mﬁaﬁﬁmﬁﬁaﬁa@umaﬁmaﬁmﬁf%

(Choose the most appropriate option from below) R By

(Fr1 9 & Waifuew suga fawes g) -k
(A) 40Hz B) 100 Hz (C) 60 Hz
(D) 50Hz (E) Queshon not attempted / 3TARA J9

The Founding members of the NDB (New Development Bank) are:
(A)  Belgium, Russia, Indonesia, China and South Africa

(B)  Brazil, Russia, India, China and Singapore

(©  Brazil, Russia, India, China and South Africa

(D)  Brazil, Russia, Indonesia, China and South Africa

(E) Questionnotattempted

T S (Y STATHE ) F HeTE 9

(A) Sfesram, &6, SSHfvE, =i 31 gfer stwte
(B) I, T, WA, 9 3R famgy

(©  FISiI, ¥4, WA, <19 37K farr stmten

(D) SSitel, T4, $SHfvmE, = SiR <faror srpten

@ p-1/Y13 3
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Match List-I with List-IL.

List-1 L
Type of Colloid Example
(a) Aerosol ) Butte'r
() Emulsion (i) Shaving Cread
(©  Foam (i)  Mist
@ Gel () Facecream
-1 1 G-I AT I
g -1l
HATS T AHR I
@ (o
®) FH (i) e
© W i) Y (Free)
@  (v) SRR Al %A
Choose the most appropriate answer from the options given below :
A g e forpedt A 9 Wit SR I g
@ @)-G) 0)-0) Q-0 @-@) -G @-3) b)) - (@0
©  @-@), b)- ) -G @-0 - 0 @-0 (b) (i), (¢) - (i), () - (i)
(E) Questionnotattempted/ BRI W
Human typhoid causing pathogen is knOV\;n to generally enter the small intestine through :
(A) Air B) Through used syringes () Contaminated food and water
(D) Blood (E) ngfi;on notattempted k
e TS, U1 HT S I Bre 37id H - F B YA T 7 :
@A) 99 @) ST H T fafs © {Fﬂﬁ%ﬂmaﬁtm
@ = ) A w |
Which is not a clinical symptom for Turner syndrome ?
(A) Virtually no ovaries (B)  Broad heal with round face (©  Webbed neck &
(D) Swollen hands and feet (E) Questionnotattempted ' E«g
R figm & fa i T Rt (- o) e @ €2 | i
(A), TEW: FE TR T ® ﬁaﬁz’{ésmuaﬁg“r@ © TeRRTES o
gﬂcz}ill;ztlzn:rgandhl Enghoh Medium schools are running in the Rajasthan State from the session 2019-20. Theée

(Choose the most appropriate option from belov\ )

(A)  GovernmentSchool (B) " -Aided School i

(D) Pl;blic School (E) " Question not attempted (S ai=stia]
Torer & T it st wrem fawmerd w9 2019-20 | 1 R e E Y g

(Fr= % wraifues Sugem fased 99) g "
A), TR foemem B) wEwE WK faaen ey
(D) i faemem € IgaRdye , @ =

R p-1/Y13 4
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14

15.

Select the microbes used as biofertilizers.

(@)  Rhizobium and Azospirillum " (b) Azobnctcr'
() BlueGreen Algae (d)  Mycorrhiza and Acetobacteria

Choose the most appropriate answer from the options given below :

(4)  (a), (b), (c)and (d) (B)  (a) (c)and (d)only ©  (b),(c)and (d) only
(D) (a),(b)and (c) only (E)  Question notattempted

i 3 T H ST R S e gaw st o S R

@) TSR TR b THER

@/ d) TS SR R R

A fe T ferhedt 4 § watfire swge swgi: o

@) (@) ®) ()R B) % (a), (c) () ©  F(b), (0) ()
) ¥ (a), (b) 3R (c) ) TR

Identify the non-metal which is lustrous.

(A)  Iodine (B)  Potassium (©  Fluorine

D) Phosphorous (E)  Question notattempted

I YT < Tg=1T ST GRS Y

@A)  sTEEe B) dRrEm O v

D) HERRY (E) AgaRaww

In case of twins in cattle ‘Free Martin’ is named for : =
(A)  Sterile male among the twins i.e. only male. 4
(B)  Sterile female among the twins i.. only femalés,
(©  Sterile male among the twins i.e. male and female.

- (D) Sterile female among the twins i.e. male and fZemale. _

()  Question notattempted N
AR & A A % A 8, W v
(4) A = A e () W SR A T
(D) e =i § dea (aiter) T, srerfe R S |

(E) 317 SIEGR S|

Slaked lime reacts with chlorine to give :

(A) Washing soda (B) Commonsalt (©  Baking powder
(D)  Bleaching powder (E)  Questionnotattempted

T TN T (WAFS EH) A F WY GRT FE MY caod chy O gc_._f_gjm_
A) I Frel (B) © AR
@ AT R ®

In Arid western Plain zone of Rajasthan which are the major Kharif crops sown ?

(A) Mustard and Gram (B)  Wheatand Gram (©  Bajra, Moth & Sesamum

(D) Wheat, Mustard & Cuminseed (E) Qtlesti?)n not attempted

ST % Y e At A H @l ) i T e e w2

(A) T ®) e, Q W, @ 7 fir
O 7 S ®  oara v

| p.1/v13 5
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int” is located in :

18. India’s southern most point, “Indira poin () Lakshdweep
d . Nicobar
v (A) Minicoi (B) ) tattempted
(D) Andaman (B)  Questionnots
R 1 TR S faig S e el feud €7
frrram Q B
() Tafem B)
O) steuA () ST SR
1_9,/ Which of the following are properties or true about physical change ?
(@)  There can be a change in state or colour of the substance.
(b)  Itisanirreversible change. .
(©  Nonew substance is formed during this change.
(d)  Conversion of water into steam is a physical change.
Choose the most appropriate answer from the options given below :
(A)  (c)and (d)only (B)  (a), (b)and (c) only © (@), (c)and (d)only
(D)  (b),(c)and (d) only (E) Question notattempted
frfafea 4 @ o @ «fifes whads & R & v € et §2
() Wﬁ%mmm(éz)ﬁwﬁaﬁqam%
© mvﬁaﬁq%ﬁm@iwqﬂéﬂﬁm‘%
(9 Y ager, T i qﬁa?fa %l
@) ¥ (o) 3R (q) f_ﬂﬂma) (b) 3R (¢) © 9 (a), (o) 3R (q)
(D) &= (b), (c) 3R (d) E i
20, To which Civilization the civilisation of Kalibangan related ?
(A)  Mesopotamia Civilization (B)  Egyptian Civilization © Indus Valley Civilization
(D)  Vaidic Civilization (B)  Questionnotattempted _
FICAET %1 A2 foh Foarar | Heifera &2
(A)  FEMEIEE Gagar (B) - forr it W © iy T v
(D) Az e ’ (B) _Tafta wea
%V Which of the following Rajasthani folk dancé is fierformcd only by women ?
(A)  Chang Dance B) Déndiya Dance (© BumDance
(D)  Ghudla Dance (E) Question not attempted
ﬁﬁfﬁ#@aﬁ@ﬁqmmﬁtﬁa’mmmmﬁmﬁﬁmmsm%?
@) ™ ® sifear T © Y™
O "SI TH ) SHuRa
& p-1/Y13 6
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22.~ Match List-I with List-IL

i List-II

List-I Sl
Product ' D.lstnct

(@)  Blue pottery gems and jewellery (1) Ajmer

(b)  Granite/Marble (u? K(?ta

(9  Embroidery fabric (i) Jaipur

(d)  Automobile parts (iv) Alwar :

TE-T 1 G- gifera it ,
-1 -1
|arg e

© %ﬁ El ERE (i) S

@ AT Ty (V) SRR

Choose the most appropriate answer from the options given below :

e R T forredt § @ waifoms ST W g :

@) @)- (i), (b)- (iv), (o) - (i), (d) - () ®  @)- (@), (b)- (i), (c)- (i), (d) - i)
Q  @- (), (v)- (i), (0)- (i), (d) - (iv) @) @)-Q), (b)- (i), (c) - (iv), (d) - (i)
(E)  Questionnot attempted / 3T7IRA w9

When the Matsya Union was mer

Minister of Rajasthan ? Sk 4

(A)  Prafull Kumar (B)  Hiren Chaudhary. (©  HoriLal Sharma
(D) Hiralal Shastri (E)  Question notattempted

ST HE 1 e T 4 foert g, 7@ ettt 3 Qo ¥ vem gemih 5

®) T TR ® fEd 0 dWaww

(D) el Tt B oA -

In the headlights of cars and scooters, are used as reflectors.

(A) Convexlens (B) Concavelens © | Convex mirror
(D) Concave mirror : “(E)  Questionnot attempted
FR AR TR I ¥ A5 (SWY) § T FA e & &9 R s $)
(a) WA d" (B) THAd oiF © STy
@. e () SR T |
25— Select those are mixtures from the following, o ”
(@) Iron (b) Coal (©  Seawater | (d)  Hydrochloric Acid
Choose the most appropriate answer from the options given below :
(4)  (b)and (c)only ® (@only . © (@) (b),(c)and (d)
(D)  (a),(c)and (d) only (E)  Questionnot attempted
freafefea & 4 < fagor & s gfm
@ e (3 (b) HEen (9 ¥R FHI @) TSR s
ﬁ%ﬁqwﬁaﬁm‘fﬁﬁmmmgﬁ: ‘
(&) F (b) 3 (c) B) % (o) © (@ )R
@) FH (), ) 3R (d) () ST e
W p1/vi3 7

ged with greater Rajastha:ni W:ho among the following became the first Chief

P.T.O.
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, : i of category A ?
g 2022 Rajasthan is placed under which group © & Best Performer i

A States startup Rankin i
?5’ (Aj perLeaders (B)  Aspiring Leaders |

(D) Top Performer (E)  Question notattem p‘tc ,
wmﬁnzozz%mwmﬁ%ﬁ%'%ﬁmwﬁ@"m% -
(a) TisH ® et e (o TR

.y. 1 Kilowatt hour is equal to : {: 10% Joule . &
(A)  3.6X10° Joule (B) 3.6 X10° Joule © =
(D) 36000 Joule (E) Quesﬁon not attempted Lo,(- ,/)
1 foreitare Her R & S

) 3 /

(A)  3.6x100 & B) 3.6 %1055 Q 10° ¥ /b/:,/
(D) 36000 [ (B) AgaRa g :

28,  Which of the following is an indigenous milk breed of Buffalo ?
(A)  Jamunapari (B) Murrah (O  Jhakrana
(D) Beetal (E)  Question notattempted
frefafad § @ = W@ Yo #t @i gur T 22
(A) S Q. &
(D) dted

29,  Given below are two statements :
Statement (I) : To solve the problem of soil erosion and floods caused

Mandsaur district of MP was bd’il;t‘m the first phase.
In the second phase Rana Pratap! Sagar Dam at Rawatbhata in Chittorgarh district of Rajasthan
and in the 3'd phase Jawahar Sagaj’r pick up Dam on the border of Kota, Bundi districts were

built. £
In the light of the above statements, choose the mos ~"z':'*p}nropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (I) is incorrect.
(B)  Statement (I) is incorrect but Statement (IT) is correct.
(O  Both Statement (I) and Statement (IT) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted

AT Fy R E

by river Chambal Gandhi Sagar damin

Statement (II) :

FTA(I) : éaa‘—rﬁ@tﬁ%arég—mammﬁ%ﬁw%mm%mgmmﬁqmm%wmﬁ
M AR iy 5 fmfor fean gy 1
FIA(IN) : @wﬁm%mm%mmﬁwmwmqmmwﬁaﬁas@fiﬂéﬁ
91 T STATet AR fas1 wiey s . ?

mmﬁmﬁﬁmﬁf@aﬁwwﬁvﬁﬂmmm;ﬁ;
(A) e (1) TA R, g e () sy ()

® FE () 50§, g et (1) g 81 L
© (1) 3R we (11) B Ty ¥
(D) , S () IR ®wAT (11) 3 erqe ¥ | 1

4R p-1/Y13




30. Select the correctly matched pairs of enzymes produced from microbes and their application :
- (@)  Amylase - Preparation of glucose syrup
(b)  Protease - Clarifying beer
()  Pectinase - Digestive
(d) Lipase- Clarifying fruitjuice
Choose the most appropriate answer from the options given below :

(A) (b)and (d)only B) (c)and(d)only ©  (a)and (b)only
(D)  (a) (b)and (c) only (E)  Question notattempted

Gl 3R T STIHANT ¥ S USTgHl oht Tl gafer et &1 = |
(@) THEAS - TS g %hm“r (Preparation of glucose syrup)

b) HETS - foRR T W el (Clarifying beer)

@, I - o

(d) TS - el 1 T W HE S

e fa T et & @ watfiren swgem s -

@) Fa (b) (g ®) ¥ () 3R © % (a) AR (b)
©) 5 (a), (b) 3W(c) (€) TR e

3 Which two countries in the world are major producer of silk ?
(A) Canada and India (B) China and India (© China and Australia
(D) USA and Australia (B)  Questionnotattempted
et 5 3 forvar 3 form <1 el & Yot o watforen S 2 22
(A) TSR YA B) %ﬂ-wr?_ﬁ‘rmr{a © < iR srefea
D) 9T TR ASferan B I

32. Whendid the barad peasant movement start ? ot

“ (A April 1922 ®) April1923 ©  April 1920

(D) April 1921 (E)  Questionnotattempted
e fFEM <o Fd e gem ? :
(A) 3A 1922 (B) 31w 1923 © 3 1920
©) @ 1921 B) STIARAwA

33. ~ If‘'n’ number of resistances, each of value ‘r’ are connected in parallel, their equivalent resistance will be :

Y ‘n’ dem & fadl 1, fH ToE HAE o' €, A A e H SiTen ST | S SRge WA B -

P S/ (A} nfr B 1/nr @ nr
: ®) r/n (E)  Questionnotattempted/ IFARA W

34 If the current flowing througha conductor fora fi)&géil tfme tis doubled, then the heat produced in the same interval
oftimetbecomes_________ ofits previous value,™
(A) double (B)  threctimes © half
(D) fourtimes (B Que-;tion not attempted
aﬁﬁa}mﬁ@ﬁmwﬁfmmmmﬁm R T RS S, | W S ¢ S
WA S S G WA @S, q< %
(&) 3T ® ©
O R B  STHRd W =

R p-1/v13 9 P.T.O.
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n
=

o5 ; i f weath
35.  Which one of the following minerals is formed by decomposition of rocks, leaving a residual mass of weathered

&;teri;li;c (B) Bauxite © Gold

(D) Coal (E)  Questionnot attempted . -
frefafea § A o afe agri % oTaeed A o9 ¢, S srsfad wae w5 mﬁwmm%
A &F | (), -t © @rm

D) W (E) ST 9

ﬁ, Rahul conducts an experiment with a concavé lens of f =20 cm; If he placed the object of height 10 cm at a distance

of 30 cm from the optical centre of lens, wlleie should the screen be placed from the optical centre to take the image
on the screen ? '

(A)  Thescreen should be placed between 20 cm and 30 cm

(B)  He willnever be able to take the image on the screen, wherever the screen is placed.
(©  Thescreen should be placed at a distance less than 30 cm.

(D)  The screen should be placed at a distance more than 30 cm.
(E)  Question notattempted

rrgaf=2oé3ﬁ.Wﬁa%ma@mm%mﬁa%wmﬁ.a‘mﬁazﬁv%mﬁw%@méﬁ%’rzﬁ
mm%,ﬁvﬁwuﬁﬁaéﬁ%mwuﬁﬁmﬁa%ﬁﬁm@wmﬁm
@A) Qﬁaﬁzoé.ﬁ.aﬁwo@ﬁ.%aﬁar@mml .
(B) T HE W W T wfifda e off v WA @ g S
© TR T30 A, F W Y W w@ w=m) T

D)~ q@ﬁao@.ﬁ.@ﬁw@mm;@m

B SEERATE

3} The iron pipes used in our homes to carryWatj_er are to prevent from rusting.
(Choose the most appropriate option frombelow)
(A) Oiled (B) .=_-Cleaned ©. Galvanised
(D) Greased (E)-. Question notattempted
aﬁﬁmﬁ%ﬁﬂmﬁmmﬁm@r?ﬁé-imﬁﬁnﬁwﬁ%fm e s 1
(Fr=1 5 & watfires sugem foasea 9) 2
@) ¥ afE (B) 9T fep gU Q Trearrga
(D) ¥\ «fya (B) SuRa
38.  According to census 2011 which of the following is the least urbanised District of Rajasthan State ?
NI aipur (B)  Ajmer (©  Dungarpur
(D) Kota (E)  Questionnotattempted
2011 F1 STV % SFFAR f11 § § Toram w1 gem wedga fen
(#) IR ®) oTR ©  FRE 1
D) == (B). e o & w
39/ Whenablue litmus is di pped ina solution it becomes red, its pH is likely to be : o )
mqmﬁéfamaﬁrmﬂﬁmﬁgamm%?ﬁa?mam%mﬂm (pH) Hwaa: g :@\/&/«\ /
(A), 5 B)-9 © 7 0\3\//
D) 10 () - Question not attempted / 3t wg= |
4.9./ Which of the following painters does not belong to Alwar school of painting ? = |
(A) Baldev (B) | Daluram (© Nanakram
(D) Jamnadas () Question not attempted

frfafad 5 & =17 a1 et srerar wen faemer @ wag 76 &2

() T ®) e © %‘
(D) S (B)  oryafE ue | :

@ p-1/Y13 4




Match List-I with List-I1.

List-I List-IT
Ruler Duration
(@) RaoBika ()  1526-1541 AD
(b)  Rao Lunakarna (i)  1465-1540 AD
(©  Rao Jaitsi (iii) 1541 -1574 AD
(d  RaoKalyanmal (iv) 1505-1526 AD
Gt-1 Y GEit-11 | gafera i : '
-1 get-11
BUSED G ST .
@  Ta st () 1526-1541 AD © -
(b) T TR (i) 1465-1540 AD® _
© T it (i) 1541 -1574 ADD °
@ I HAORTT (iv) 1505 - 1526 AIXP)

Choose the most appropriate answer from the options given below :
T TR T ferpedt # @ waiferen S s gh :

&) (@- (i), (b)- (i), () - (iii), (d) - (i)

(B)  (@)-(ii), (b)- (i), () - (v), (d) - (i)

©  @-(), (b)- (i), (c) - (iii), (d) - (iv)

@ @- @), (b)- (i), () - (), (d) - (i)

(E)  Question notattempted / 3TARA U 7~

Which of the following is not a hybrid variety of Pearl Millet proposed by ICAR for Rajasthan ?
71 | @ 1 it a7 W IS ICAR gRI Usted - fer st = & 2

(A) HHB67 () PEHM1 - (© RHB121

(D) RHB127 (E) Questionnot ttempted / STTARA T

In which fort do we find nine identical suites ? ;

(A) Taragarh fort (B) Gagronfort_._ (©  Chittorgarh fort
(D) Nahargarh fort (BE)  Question notattempted

T fered 3 & it UHEHH aT 1 YR (identical suites) fier § 2

(A) ARG fehen B) TFRA fwen © faditeTs feen
(2) BUTG famet (E) Sraiayd

Which of the following is not an example of a biomass energy source ?
(Choose the most appropriate option from below)

(A) Nuclear Energy B) Coal © Wood
(D) GobarGas (E)  Question notattempted

frafafaa #§ @ w9 W1 aEmE S S 6 S T 87

(fr1 4 4 waifes Iuga fased 94)

(Ay TS B) HEA e ©
Which is not a major crop of Rajasthan ? -

(A) Groundnut (B) Sugarcane - (© Millet
(D) Maize 3 Question not attempted

I TSI 1 T A el & ? ™

(A) e @) = © T

) T B) ITIORa T ' '

W|p.1/v13 11
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& e il e i ivities in Rajasthan, still continues to be the backbone of the state’s
H Agriculture and allied activities in Rajasthan, ¢ . i
StatempntiC) ec%rxif:ny by contributing 28.95 percent in the state’s total GSVA in 2022-2023 at the current
rice. . . ) ; i A

Statement (II): ﬁajasthan, being a state with diverse climatic conditions, is achyely engaged I t:le Eﬁité‘;itém
of a variety of crops, supporting organic farming and holding strong anim Iy
sector. e . .

In the light of the above statements, choose the most appropriate answer from the options given below.

(A)  Statement (I) is correct but Statement (IT) is incorrect.

(B)  Statement (I) is incorrect but Statement (I1) is correct.

(©  Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E) Questionnot attempted "t j

TR wem R E £

RAT(W TR H i AR delg niafafied ot off T orefermen 7 47 o g 3, e SR T W
2022-2023 § T4 ¥ F& ST (GSVA) H 28.95 HRrew &l AEH |

HYA (1) : Wﬁﬁuwnﬁﬁaﬁzﬁmwgﬁﬁﬁﬁmmmﬁ@?ﬁ,méﬁaﬁm%am
e 4 3 e T

mﬁmm%mﬁmﬁmﬁﬁﬁw&mmmaﬁ:

&) e (1) T E, g e (11) oo £

®) HAT () A R, TFg o (1) w1 ¥

@/ ®IF (1) SIRFHH (1) 31 T4 & | ™

(D) YA (1) IR/ (I1) A o/ §

B gy 2
47.  AsperCensus, 2011, which of the following langgfazée is spoken highest (in%) in Rajasthan considering national
reference of the language for the given languages-only ?
(A) Punjabi (B)  Sindhi © Marathi
(D) Telugu (E)  Question notattempted

ST, 2011 % ST, it i 4 rer ATt 0 it P S Qe s g i

Tl THT T =2 Y| :
(A) Yt @® fa © wE
@) 91 ®  ogeRa T
48.  Which industry is called the scasonal industry ?
- (Choose the most appropriate option from below)
(A)  Granite Industry (B)  SugarIndustry ©  Dairy Industry
(D)  Ornament Industry E) Question not attempted :
(F71 4 4 watfies sugqe fases 7)
(A)y TRz TEm ®) e © T Em
D) S TR (B)  STIIRa W
49.  Thefirst plant succession that occurs in aquatic ehv%ronment (Hydrosere) is :
(A)  Floating stage (B)  Reedswamp stage ©  Submerged stage
(D) Phytoplankton stage (E)  Question notattempted
AT TATRT (STeTshHa) H €M A IRY SO R Y T
(A) e B) TFA (TF) 39 T © P
(D) IR Wieh = € SEfEayA
<

@R p-1/Y13 12
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SEL TS L e i e S e s

¢

TR Yy R S AR

B

Total number of ventricles of human brain :

T4 Afesk & e ot $ 9e@m
@A) 6 ® 8 O, 2
D) 4 ()  Questionnotattempted/ AT IH
~ Which of the following is not a start up in millet sector in Rajasthan ? ‘
(A) ACLfoods (B)  Govindjee © Milleys
(D) Pagarbook (E)  Questionnotattempted
71 & A T ST HHE S H R R
(A) ACLT=H ®. Tfawst , © firerg
(D) TRIH () Suia¥yd
Milkisa:
(Choose the most appropriate option from below) ;
(A)  Unstable colloidal solution (B)  Colloidal solution and heterogeneous mixture
(©  Solution of milk proteins (D) Suspension and heterogeneous mixture
(E)  Question notattempted
3H Th g
(f=1 & waifies sugeaa famed 34)
(A) owgfed widizea faeam ® e foer i fawmi fsor
© 3 WEA 1 fagm (D) e iR faemit fagor
()  rgafd ue= ‘
Which property of metals is used for making bells and strings of Musical Instruments ?
(A)  Sonority (B)  Ductility ;
(© Malleability (D)  Permeability ‘

(E)  Question notattempted

T 3 i & Torent 35 el @ wifea e it e 8 A SR S E 2

(A) R (HARE) ®) T (SHE)

© smEmadHEm (Afeafafadr) D). T (R

(B) Iguia g

Which is the longest man made canal of India ?

(A) Indira Gandhi canal (B) Tejewala canal (©) Western Yamuna canal
(D) Munak canal (E)  Question notattempted

It Fad @it aed i TR aE |/ g ?

(A) f=a i TR (B) AVEIITR, © i T AR

(D) TIFTH () SgaRaye -

Who among the following built 84 Pillered Cenotaph in Rajast‘l?an ?

(A)  RajaBeer Singh (B)  Rao Bika Singh (© Rao Raja Anirudh Singh
(D)  Raja Bar Singh (E)  Question notattempted

TS & 84 @il o1 ek e F @ fre a0

(A) TR g B) T st g © TE T g Rl

O) UsneRfag B SafawsE

W p.1/vi3 13 P.T.0.
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: - actions ?
56, Identify which of the following pairs will undergo chemical (displacement) re 1

CaSO, +Fe
(4 MgSO,+Fe () CuSO,+Pb © 4
d  ZnSO,+Mg (@ CuSOs+Ag _
Choose the most appropriate answer from the options given below : © () and (d) only
(&) (), (d)and (¢)only (B) - (a), (b)and (d)only
(D)  (b),(c)and (d) only (E) Qucstion‘not at.tcm pted
Frafafaa 3 @ w1 A (frerm) g wamtE afifma w62
(a) ngs()4 +Fe ) CUSQ4 +Pb (C) CaSO4 + Fe
(d)  ZnSO,+Mg () CuSO,+Ag
e fe T foredt § @ watfiren sugem SR
(A)- Fa (a), (d) 3R (e) . (B) %dd (a), (b) 3R (d) © e (a) 3R (d)
@) e (b), (c) T (d) ® SgERT I
57.  How many princely states were included in the present day in Rajasthan ?
(Choose the most appropriate answer from the options given below )
(A) 15States and 9 Chiefships #(B) 19Statesand 3
© 452 States - (D) 35States
(E)  Questionnotattempted i
(ﬁ%@mﬁﬂﬁﬁmmwaﬁ)
(&) 15 T4 3R 9 TR “®), 3 TR
© 452 T~
E) FaRa T
58!  The Plateau which is the .richest i
(A) Deccan Plateau ota Nagpur Plateau (©  Mysuru Plateau
(D) Malwa Plateau Question not attempted
wRd H @il § waifes HEAAE?
(A)  <FRTH U8R (B) BRI ANR IR O FTRwEr

Dy HEE B8R (E) ST;IHﬁHTF{

52. Ason ]u_ly, 20, e meml;e'ré as participants in the Special Drawing Rights department of th
International Mofietary’Fund (IMF). 5

Wzozumaiaﬁg?qgmaﬁq(mmﬁ@éa%mafwﬁvﬁﬁuﬁrw%mﬁ TR I &

(A) 202 ®) ; A% © 1%
(D) 187 (E) . Question notattempted/ 3TTafE ygq
60— In which of the following area of Rajaslhanj "aﬁlabi Gangaur” is celebrated on Chaitra Shukla Panchami ?
(A)  Nathdwara (B) Bundi (©  Pushkar '
(D)  Ajmer (E)  Question notattempted
frafafad 4 4 feg éaﬁ“aa@mﬁx"éamﬁaﬂaﬁm@aﬁ%?
(A) TER ®), 4@ © T
(D) W () 3 e
&R p-1/Y13 14




jbl. ‘Karan Swiss’, a cross breed strain of cattle is developed by the following crossing :

(Choose the most appropriate answer from the options given below)
(A)  Holstein - Friesian bulls with Tharparkar cows

(B)  Brown-Swiss bull with Tharparkar cows

(©  Holstein-Friesian bulls with Sahiwal cows

(D)  Brown-Swiss bull with Sahiwal Red Sindhi Cows

(E)  Question not attempted

H R, i st vt e et SRt g o < 3 2
(1 Fo T ot 4  watfires soeerm s =) '
(A)  BeuE-RAfear S RarER T ¥ e

®), [-f= S arae T F

O, EouE-frfaerd da wréaret T 3 e

D) - S Wrtaret =1 et feisft e % e

) STIERA Y -

Which was the first farmers movement of Rajasthan ?

A) Bﬁar.atpur Peasant Movement (B)  Marwar Peasant Movement

(©  Bijolia Peasant Movement (D)  BegunPeasant Movement

(E)  Question notattempted

TSTEAT <1 Y&l fohd ST 1 91 o1 2

@) TR forar sT=rem - (B) RS fREM =

©y fosiiferan fram e - (D) 9 frEm e

() STARaw¥A » —

Which of the following is not a Zooplankton ?

(A)  Brachionus (B) - Cyclops / ©  Lemna
(D)  Euglena (E)* Question notattempted
ﬁqﬁr@aﬁﬁﬁqmmﬁ%?ﬁ _

A)  HfEsITT ®) @ WEEIW © @=r

©) g ®).. SHE e

Select the region which does not have tropical forest in Rajasthan.

(A) MountAbu (B)  Bikaner _ © Pali

(D)  Jodhpur (E)  Question notattempted

T B Soshfed et 9 A 311 aTel &5 ol 997 e ; .

(A) TE=Ig (B). EiEaEts © U

@) SR ' () S I

A boy has difficulty in reading the blackboard while sitting in the last row in the class. He is suffering from which
defect of vision and what kind of lens can be used to improve defect ?

(A)  Hypermetropia, Concave lens . (B)  Hypermetropia, Convex lens

(©  Myopia, Convex lens (D)  Myopia, Concave lens

(E)  Question notattempted ¢

U TS <1, <1 o el 1 SAfEd i 4 o @ o we ¥ wferrd gt &)1 9w fra gfie S @ difea § sivsd 3w
F U % forw i | < B TA HE 930 ?

@) eI, sEad dE C®) eI, Sue o

Q i, Sua |9 : (D) ¥, e o9

P-1/Y13 15 P.T.O.
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e another in a fixed prop ortion?

; bined with on . :
66. What do we get when two or more clements arc chemically combine © Mixture
Va (B) Gases
(A) Compound . tattempted
© Liquids ) et o o 7 # 4, 5 T
mﬁmﬁwmwﬁmmﬁﬁmﬁm@ﬁmm ' ' © famm
Ay ®
(© () SR S
. Chﬁnd Bardai was the court poet of which ruler ? itra Sin
7 ‘(A)  Maharana Lakha (B) Maharana Kumbha (©  JaitraSingh
“(D)  Prithviraj Il (E)  Question notattempted
TR T o T TS e 2 ,
: © “=fde
@) TR T (B) RN HE
©)/ JER I (B)  STTA 9%
6§/ “Rani Bhatiyani temple” is situated in which of the following places in any?
(A)  Bikaner (B)  Bhilwara (O Barmer
(D) Bharatpur (E)  Question notattem
T H T sfeart wfi! Frefafea § @ e wom A
@A) dER (B) iET © @
DO) s B) oTIafa
6% ?The:: Jawar/Zawar mines of Udaipur are famous
“(A)  Granite © Bauxite
‘(D) Zinc _ |
AR T AR EH fres fauy
(A TR © diEEEE
Dy f&=x
70, Which of the following is
(Choose the most appr
(A)  They are liquid i ions. (B)  They contain carbon dioxide in the form of solute.
(©) They, i i (D)  Soda water is an aerated drink.
(E) . Questiofin
frafafas 43 9 (2T fw) & ded o wer 7 &2
(f7= 4 4 waifues sugen faseq 99) : ‘
» T foeaa § 4 za gn ¥ (B) WWmmfﬂm%mﬁ‘ﬁa}%l
O M faerm H & g oea ¥ D) ‘Hrel AR U @i 47 &)
7l + Coating of Chromium or Zinc on Iron protects it from rusting. This process is called :
A& Galvanization (B)  Decantation (©  Oxidation :
,(D) _‘ Re.duction (E)  Questionnotattempted
“;ﬁfwﬁmmaﬁﬁmmﬁmsﬁﬁnwﬁﬁm%x%mm%:
@ e ®  frwe ©  sitwiw
(D) ST : (B) Srafawym
@ p-1/ Y13 , 16 |




¢ Which of the following Khyal has main characters called * ‘Mediya” ?

(&) TurraKalangi Khyal (B)  Jaipuri Khyal ©  HelaKhyal
(D) Kanhaiya Khyal ()  Question notattempted

fretfefed et # ¥ firw e @ ger i, ' Ao’ Fear 82

@) W Fer e ®) SEYY @I © e
@ W e ®)  SrgafE v

The chemical formula of rustis:

SPT <61 TR G 2 |

®)  Feso, ®). Fei0, © Fe

D) FeO (E) Question notattempted/ sl'j,'ﬂﬁ?f ELE|

Which of the following Baori was constructed by Rani Nathavatiji, the younger queen of Maharao Raja Anirudh
Singh of Bundi ? )

(A)  Raniji Ki Baori (B) Chand Baori (© Parcha Baori
(D) RajonKi Baolj

(E) Questionnot attempted

mﬁﬁﬁ@m%ﬁ%wwmﬁ%ﬁmnﬁnﬁmﬂaﬂ?ﬁmmﬂé ot ?
© TEAEE

@) TS e B) =
D) TSI =t =it (B) IaRa v

. Given below are two statements :

Statement (I) : Alluvial soil is found in the North'and
Alwar, Dholpur and Dausa.

Statement (II) : This soil contains enough quantity of mtrogen and lacks in lime,

7 phosphorous and iron.
In the light of the above statements, choose the most appropnate answer from the options given below.
(A)  Statement (I) is correct but Statement (IT) is incorrect.

(B)  Statement (I) is incorrect but Statement (IT) is correct
(© Both Statement (I) and Statement (IT) are correct
(D)  Both Statement (I) and Statement (II) are mcorrect
(E)  Question notattempted. %

T wyA g E
FAA(): g (T ) TR TSTEH 6 Sad 3R gt et S e, rete, AR 3R R &y s 8

FE(): TR H I A IS A T (), w@w@km(%ﬁz)ﬁmmﬁn
Wm%mﬁmﬁmﬁﬁwﬁmwwgﬁ

(A)  HIT (I) TF T, fhrg e (1) ST T
B) wUA (1) JTA g, fohg U (1) TA )
@ e (1) wa (1) 3E T

D) @ (1) S HAT (1) 3T 1A €|

) rafawA
»  Balaghat mine is located in which of the following state of India ?
(A)  Jharkhand (B) Bihar | (©  Uttar Pradesh
(D) Madhya Pradesh (E)  Question notattempted
A A e wRd & frefafaa 3 @ firg g § sraftag 2
&) wRES ®) fwer , ©_ SWRW
O) #EFYIW ® FaRawd
;‘ P-1/Y13 17 P.T.O.


https://t.me/TejalShikshaVibhag

77.  Select one of the following place of Rajasthan through which natural gas pipeline passes-
7 (Choose the most appropriate option from below)

(A)  Bhilwara (B) Banswara (© Ganganagar

(D) Bikaner ()  Questionnot attempted N

Frerfirfiad 1 Q T 3 T8 T 1 R HoE 8 e T s T € -

(Fr A waitfires sugem fawet 99) e _ _

NI s @By ¢ SrgErE! @ T .

O) R B STIREE - (g
78, Kali tiger reserves is located in which of the following State of India ? .

(A) Himachal Pradesh (B) Gujarat (© Rajasthan £

(D) Karnataka (E) Questionnot attempted

m@mamm%mﬁﬁﬁqﬁwﬁm%? .

@) fe=aww ®)/ T T

@) e () SHRA 9

79/ Aboy enters from sunlighttoa dark room. What will happen to his eyes
(A)  The size of pupil will decrease and more light will enter hise
(B)  The size of the pupil will increase and less light wil
(©)  Thesize of the pupil will decrease and less light wi :
(D) Thesize of the pupil will increase and more light will'ex

T o2
SIS s R n e B

(E) Questionnotattempted
T SHT YO A T A HAH FAW FA Q| TR ?
(A) SHH! YAl i SRR FH & ST iR I RIS JOS T |

(B) SHH TaCH 1 STHR SIS T ST LI
© SHE! TACH o SR D & ﬂ‘fﬁ

(D) T A H AFK TG &« e
(E) 3TIia I

80:  According to Rajasthan Iny romotion Scheme, 2022 which of the following statement is not correct? ¢

medicinal and aromatic crops production.

(B) Rajasthanis se argestiproducer of oilseeds and coarse cereals.

(©) Rajasthani helargest producer of mu§tard, bajra and corriander.
(D) Rajatl acond position in milk production.

(E) Questié attempted . .
e A 7 ,zozz'éﬁaaganﬁﬂﬁwf@aﬁ@aﬁﬂwwvﬁﬂﬁ%?

(8) TSEGA @@ﬁmmﬁmﬁ@mm%u
(B)- TS e SR T ST g T e e €
(@ TS T, TR SR I e e e ¥
D) TSI g ST gE W W

(E) m s g
81, Which two countries carried out the 7h edition of the joint {hl)iéM)f exercise ‘SHAKTI' ?
/ (A) India&UAE (B) India & Russia._ (©) India & France
India & Maldives () Questionnot attempted
maéﬁ%ﬁwﬁwam‘vﬁﬁ'WWWWM? N
B) TR ITE B) T © W wE
O T AL € STTERa W

18
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The ornament, “Chhel Kadi’ is worn by Rajasthani men in tbe

Hands
(A) Fingers (B)  Feet ©
(D) Ears ()  Questionnot attempted
TR T, et ey, W e )
A)  Sfer ® W © .4
®) A ()  Igaf ¥
Mehrangarh fort is located in : .
(4)  Churu (B) Bikaner (©  Ajmer
(D) Jodhpur ()  Question notattempted
IE.III;M(W)M%:
@) T ®) R © IR
(D) SUR (B)  SIafa o
,  Whatis the nant}]e of the cantonment where some of those Indian troops serving in the Company at Rajastl
mutinied on 28 May 1857 ?
(A)  Deesa (B) Narnaul \ (© Nasirabad
(D) Neemach

(E) Question notattempted
WWWWWW%WMWﬁW@ W Bfehi 7 28 WS 1857 ol fagie fam = ?

&) < ©, -THERER
O) =
%  Landform surrounded by water on three sides is L;ilvd ' .
(A) Peninsula (B) Island-< (© Ocean
(D) Plateau (E)  Question notattempted
T TRAFH S A a0 @ et g ol el ®, e @ !
Ay FEEH ®) i © MR
D) WK (B) IERATH
5/ Which of the following is an example of physical change ? ’

(A) Digestion of food (B) Formation of milk from curd

(©  Browning of apple after cutting (D)  Changing of water into steam

(E)  Question notattempted '

e ) i S e TR i e,

(A) it o I (B) T | gH

© FeA ¥ 9% qd & U A @j';yjqﬁmmﬁm

Annual Urs of Ajmer Sharif and Galiakot Pushkar fair are held in;

(A)  Sirohi ®) Jodhpur ©  Ajmer
(D) Jaisalmer (B)  Question notattempted

TSR Y% o1 enftfes 3 oiX ferenie geRt fen swefs g @

3 fod i (B)  SHYuQTH (C),~ SrmRH

D) e () SgafauE

P-1/v13 19 P.T.
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Statement (I): The major sites of Sindhu Saraswati civilizations Harappa, Mohan-Zo-Daro, Bahavalpur 4, }
now in Pakistan.

Kalibanga, Rakhigadhi, Dholaveera, Ranopur and Lothal are in Ix)dxa. '

In the light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (I1) is incorrect.

(B)  Statement (I) is incorrect but Statement (11) is correct.

(©  Both Statement (I) and Statement (I1) are correct.

(D)  Both Statement (I) and Statement (I1) are incorrect.
(E)  Questionnotattempted.

TR IFE R . |

FHUA(D) : T TR WA T WG I TS, A -1- <) 2R aereeqt 3T e 4 €|
HEA() : AT, TS, e, TR SR et wid & 1

ST Tl & STl § et famed! # | waifien SoE S0 |

(&) & (1) FA & fohg e () e )

(B)y U () IA ¢ fohg e (1) T R

© HEA (1) ARHAT (I1) S T

D) &Y (1) ARHAA (1) I SEA T |

(B) AR uwI

8'8// Given below are two statements :

Statement (I1) :

According to Economic Review (2023-24) how many government agriculture colleges are there in Rajasthan ?
3T THIE (2023-24) F STTHR TSR ¥ e Toahra i Heifaamed § 2
(A 49 ® 59

©. 39
D) 29 .

) éqution notattempted / TR WL

-
=

9Q- Ana Sagar lake is situated in which of the folldWi,r_‘:ig placeé in Rajasthan ?

(A)  Udaipur City (B)  KotaCity © JaipurCity
(D) AjmerCity (E) Qheiﬁon notattempted
Tt ¥ frefatad 3 4 fFe wm ) s g fer €2
(A) TARIR B) AR © ARIR
(D) ST (E) STIaRawed

91,  How many startup are registered with Rajasthan government as on July 2024 ?
(A)  3500-5500 (B)  8000-9500 ©  Upto 1000 only
(D)  1000-2500 (E)  Questionnot attempted
AT 2024 T TSEAT H TSTEF TR & e TUiSigha Reem &t #en e H d w2
(A)  3500-5500 (B  8000-9500 © WE1000 TF
(D) ./ 1000-2500 £ I e

9% Which of the following dam was builtin Banswarrf'\ ?
(A) KagdiPickup Dam (B) MejaDam (© KadanaDam
(D) Mabhi BajajSagar Dam (E)  Questionnot attempted
feiffaa o ¥ B W iy Sieergn § S e 2 ‘
a) AT ke i (B) WSy © HEFIEY
D), e IS AR Y E) ITTA T

~ 20
o p-1/Y13



y/  Which is the ultimate source of energy ?
Choose the most appropriate answer from the options given below :

(&) Hmanitm (B)  Fossil Fuels © Water
@), S (E)  Question notattempted
ﬁéﬁnmﬁwﬁﬁawﬁmmmwz 9

(D)/ @ (E)  37gufd w¥a '

% Select the incorrect statement from the following :
(A)  Rana Pratap took shelter in Koliyari, a hilly town.
(B)  Haldighatiis about 23 km North of Gogunda. ey
(©  Rani Padmini held the first Jauhar of Chittorgarh in 1303 AD.
(D)  Rana Hammir had retaken Chittorgarh in 1313 AD.
(E)  Question not attempted

ﬁmﬁﬁmm?ﬂwﬁm:

(A) > wmﬁﬁﬁuﬁmmmﬁm@m'
®) Eaﬁm'a’ﬁjmﬁzaﬁtﬁ.wﬁﬁma%

. © ﬁqﬁﬁmﬁ?ﬁv@mwnﬁhamosADﬁ'@m
D) wgtﬂxmlslsADﬁﬁ?ﬁwmgw:mﬂml

I
I
I
|
|

() IaRauH Y
/ Desert National Park is situated in which of the following States of India ?
- (A)  Madhya Pradesh (B) Haryana ~—— (©  Punjab
(D) Rajasthan (E)  Question not attempted
| mﬁﬁmﬁmwﬁwmwm%?g 5 2
- (A) T ERY B) ®fEmwn © U
- D)/ TSR (B) Aa T
/ Ganeshwar civilisation is situated on the banks of which river.?:
- (A) Banas (B) Ahar (©  Kothari
" D) Kantli (E)  Questionnotattempted
| TR Ha iR T ¥ e W feem §?
- (A) T (B) RS © wR=U
L D) Faeh (B) IIuRayH
& Bharthari fair takes place in which place of Rajasthan ?
(&) Alwar (B)  Udaipur ©  Sikar
~ O) Bundi (E)  Questionnot attempted
(A s B) AR s © W
- O I ®) SRR
v
B Which of the following medicines is used to relieve indigestion and heartburn ?
i Antibiotics (B)  Antipyretics . (©  Analgesic
Antacids (E)  Question not attempted
5 ﬁﬁﬁq@'wmaﬁ?mﬁmﬁmﬁaﬁ%fmmﬁmﬁ%?
() e B) Wi © W

(D)f ST Y () ® oTRRa TR

4 “1/Y13 21 P.T.O. .
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99/ Which of the following statements are true with respect to colloids ?
(@) Colloid is a homogeneous mixture.
(b)  Colloid particles can be individually scen by nakcq eye
(©  Colloid particles do notsettle down when left und.lsturbcd s of filltration
(d)  Colloidal particles cannot be separated from the mixture by the process 011l '
Choose the most appropriate answer from the options given below:

A)  (a)and (b) ®)  (b),(c)and(d) © (c)and(d)
D) (a) (c)and (d) ()  Question notattempted

frfafaa § A Freies & g ¥ S F woE Ta 2

@y SIcigs T gEi fago € :

) Hreizs ¥ fe Hu, T 6 Q2@ o R

© fom feemy S 33 W, Fieiize wu i 7 dad

) reiiEe Fui g § geam, Freted (free) wfiwn gr et fa S ahdi]

= T e foashed § @ waifiren S ST

@) ()W) ® () (© 3@ © (@
O (@ ()@ € @A

109. Where is the headquarters of International Air Transport Association (IATA) ?
(A) Canada (B) Switzerland (© France
(l?) Germany (E) Questionnotattempted
SFRI ATy aftee W w1 e 8 § 2 ‘
(&) HET ®) faswrs © e
©) e | ) SERd

101/ Storing of lemon pickle should notbe done in whichigzpe ofjar?
(A) Aluminiumjar (B)  Porcélein jar © Glass jar
(D) Plastic jar (E) Question notattempted
Tore Yo o I T 3T e o ST=IR ol TGl =&l A =feq ?
(A). THHEEH (B) il Ao © TRwEd
(D) TR &l () Igaays

102~ Half-life of Insulin in plasma is : N
(A) 45 minutes (B) 90 minutes (© 06 minutes
(D) 30 minutes (E) Questionnotattempted
e dgfer @1 ey fadt g €2
(A) 4 45 T ® 90 fae © 06 fir
O) 30 TR () TN W

103. Three Resistances of different values ry, 1o and r3 are connected in parallel and are connected with anele
source. Then, in each resistor ry, rpand ry:
(A)  Current will be the same but potential difference will be different.
(B)  Potential difference will be the same but current will be different.
(© Currentand potential difference will be the same.
(D) Currentand potential difference will be different.
(E)  Question notattempted »

S-S i Aol di JRRH 1y, rp 3R ry TG 01 3 S GO | SR U ferega wira Q Sy < B

SRR 1), v, S, T AP AR R LU O

(A) N wHE gft Afe favai i g »-‘\/\X“V g;%’q- <

Pr forvraie o g afE wm a7 “;;é\\ .g‘V:;oS’

© T S v @ B 7 5

(D) N 3R favaie firm &7 @
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(A)  Lachhi Ram (B)  Phool Ji Bhatt (©  NanuRam
(D)  Shah Al (E)  Question notattempted
umm”wmm?

@y =St Im ® FaStwz © T

(D) Ve 37t B omEiawed

05. - A wire of given material has length L and area of cross-section A. Its resistance is 4 ). How will its resistivity be
Maffected ifits length and area both become 2L and 24, respectively ?

(A)  Itwill become 1/4 of jts presentvalue &
(B)  Itwill remain the same as its present value

©  Itwill become 4 times its presentvalue

(D)  Itwill become twice its present value

(E)  Questionnot attempted

': mmm%@mﬁmmmammmQWA%|mmH4Q%IWF<WWW"%W
3 2meaaﬁﬁmwmmmwumq@m

(A) T AT THAT H 1/4 T SICH ,L\= o
: B) T T Wt (FFE ufEd 72 2m) A
e TE 4 T A SIwh
- (D T@2 T
| ©  RaE

6, According to population projections by Ministry of Health an?i:—lf;ﬁily Welfare, Government of India the projected
. Population of Rajasthan in 2011 was :

 (A)  6.85Crore (B) 17.01Crore © 121.09Crore
(D)  8.19Crore (B)  Question notattempted

T e e e, IR TR < STTHR TSR 1 T 2011 § SRR o8

.|
b

(A) 685 ® 17.01 T3 © 12109 ¥
L) 8197 B s

—'-/.I_:"':_.

& The malaria parasite stage that can be found in the salivary 5}_‘?“‘15 of female Anopheles mosquito is :
(4) Sporozoites (B)  Sporophytes ) (©  Gametocytes

D)  Cysts (E)  Question not attempted

'q?—rf(mqm-aﬁw 51 v q#ﬁ;ﬁwwaﬁmﬁfwﬁw;mm 38

) wisheTeem  ®)y, mwm_(ﬁém;aﬁm) © R (T )
' fa= (B) rgafiaww
P-1 /13 23
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l(ﬁv Match List-I with List-I1.

List-I List-11 )

Feat Application '
(@) L(:;t:; ) (i) I»]la mmered into thinsheets
(b)  Ductile (i)  Makes aringing sound when hit
(©  Malleable (i)  Shine ' .
(d) Sonorous (iv) Drawninto wxrqs
-1 1 gei-11  gifea w9

eI -1
@ g (TR () et aaeh T e sl
© T (SREW) (i) O TG SR (D)

(© omEEdE (Afedee) (i) =WeR(e) :
@ @t () (iv) @hﬁmmm@ﬁ(mm@

Choose the most appropriate answer from the options given below :
A= fw T foeredt # 9 wartfue suge swgh
B @-@ O)-0,©)-@),@-G) B @) ) b)- (i) (- ) (@)- )
© @-@),0-0.0-@),@-6)  © @- i 0)- ), 00, @-
(E)  Questionnotattempted/ STARA I

e A girl stands in front of a mirror and sees that no matter where she stands,

her image is always erect. Then

is likely to be:
(A)  Only plane (B)  Either planeorconvex (C) Only concave
(D)  Only convex (E)  Question notattempted
@m@m%w@aaﬁ%aﬂ:wm%@ﬁaﬁ 0t St B 35! wiafea sien S s 2
(A) e A B) =W TEAINATE () o st

110.  Select the exotic species of earthworm used in vermicomposting.
(A)  Lampito mauritii (B)  Octochaetona serrata ©  Periyonyx excavatus
(D)  Eisenia fetida (E)  Questiontiotattempted
mﬁmﬁqﬁﬁmwﬁﬁwwﬁt?
(A)  cifiger gk B  sRaeH WRer © 3 TRdaeE
O)  Faf Hee () S v

113 Atwhich of the following places Telghani and small scale industries are found in Rajasthan due to high yi
mustard ?
(A) Bundi (B) Bhilwara Bh
(D) Kota (E)  Question notattempted © aratpur
TSI H HE! ot 3 YSaR 6 R0 Ao ST T el Fet 8 vl v 8
@ 9% ®) e Q g
D) F= B)  TIaiEwe
11}. Constituents of a mixture can be separatedby "~ method,

(Choose the most appropriate option frombelow) | { !
(A)  Physical (B) Bothelectrochemical and physical
©  Chemical (D) ‘Electrochemical
(E)  Question not attempted ()
T 391 3 where; fafty faftri gro g fmdt sn wwa &)
(F71 ¥ 3 waiferes swaem fames o)
(A) i ®) AR At o sitfaer <y
© T (D), AL THATE
® FIUE I

& p-1/Y13 24
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/ (A) Cornea B) Iris

5

i . ) . This is enabled by :
, A person cansee objects put at different places by changing the focal length of Eg’ eyeéﬁ?:ry mltisliles v

(D) Pupil ) Question not attempted ) .
S S8 51 35300 o 0 e e gt el ¢ sl v

F! eIl @ aar ¥

(ay” Ffn ®) smim ©  faferd araafemi
D) gac € TR v

j‘?/Which of th(? f_ollowing industries uses limestone asa raw material ? )

[ (A)  Aluminium (B)  Cement (© Plastic
(D)  Automobile (E)  Question not attempted
ﬁwﬁf&aﬁﬁaﬁ#@%ﬁw%mﬁwmﬂnwmﬂm%?
@) gffrm B) e | © mfe®
D) RS () STgaRa vy
In which months the Abhanerj festival is organised by the tourist Department of Rajasthan ?
(A)  May-June "~ (B)  November - December (©  July- August
(D)  September- October (E)  Question not attempted
TSTET & T sy gy ST eI oy WY & seifore o ST 2
®) W-vm By TR - g © e - s
0) R=R- s (€) ST s

b.

When was the “Rajasthan Film Tourism Promotion Policy 2022” launched /promulgated ?

*"(Choose the most appropriate option from below) =

(A) 15t April (B)  18th April © 10t April
D) 12th April (E) Q:}Iéwsftfj_on not attempted
"o e Teie ieares Hify 2022"" Tl wia/ St it T 2
(F1 4 & waifues soge fasey o) A
A) 15 31 (B) <. 18 3w © 10 3
O) 12 3I7¥A (B)  SrIaRa we ‘
"-/Which of the following geographical regions :o}jﬁajasthan share its boundary with the state of Madhya
?
' g?des,c}\]r;va]j Region (B)  South-Eastern Plateau region (C) Western Arid Region
. ©)  Semi Arid Region (E)  Question notattempted '
| Freferfiaa & @ T o1 i o siiiferr & ot T B Be TR R W S
() e & B)- il vor &t © el gws &
- O o yem g E) STgARa T
Who painted Ragmala Chitravali for the hero of Palj, Vitthaldas Champawat ?
(A) " Artist Madho Das (B)  ArtistShiv Das ©  Artist Veerji
D)  Artist Dana Bhati (E)  Question notattempted
WWEWWW%WWWW?
O Fermm T ®) e fir T Q werERER S
- O) e g @ (B)  ¥gaRa we

! Inwhich year states startup Ranking of India, Rajast]um appeared under Top Performer grou p among the following
| Options ? -2

EW%W%mﬁm‘%ﬁmﬁWﬁﬁﬁmaﬁﬁﬁqw Aoit ¥ Ty ?

(@ 2019 B) 2021 © 2017
‘D) 2018 (E)  Question not attempted / TR 99
P-1/v13 25 P.T.0.
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ochloric acid (HCI) and concentrated Nitric 3 °1d

. ate Hydr
120. Aquaregiais a freshly prepared mixture of concentrate Hy ' . é
the ratio of : . - 3mﬁmmmﬁwm ﬁl—’m'( quareg
T AR T T W, W aTeed d 6 S :
ST ST © 2 15 T8 © 1:3
AY 3:1 B, 0 e
ED;/ 2.3 (F). -~ Question not attempted /3T LA
121. The ‘state animals’ of Rajasthan are : Camel and Elephant
;l (A)o Cltinkm-.\ n:u(i Shc]op B Chinkara and Camel © p
(D)  Sheep and Camel (E)---. Question notattem pted
RUSEOIE & ki) ‘Tﬂ' % H < 3’?{'{ Y
. . 2 2 AR AA!
@) fHEwaikag Y o iR ae o =
O SR ()~ 3TaRd y
122. Which of the following is known as the “Jallianwala Bagh” of Rajasthan ?
i (A)  Mandalgarh (B) Citra Mahal (©  Lohagarhfort
(D) Mangarh Dham (E)  Question notattempted
frfated # 4 = T o st am'! weem §? \
(A) e ®) e © TmerTE e
QY "R U™ (B) SATARdTH
1}3. Which of the following is known to have chemical carcinogen ?
(A)  Gamma-rays ()  UV-rays © X-rays
(D)  Tobacco smoke (E) _* Question notattempted
Frefefan 3 & fohad Tt $o dres T e 2
Ay T R . (). UV Tertsi (et o) © THE-X
(D) =R 1 gam (B) -~ TR T
124 Identify the heterogeneous mixture from thefollowing :
(A)  Sugar dissolved in water %= (B) Copper sulphate dissolved in water
(© Saltand Sulphur ===(D) Saltdissolved in water
(E)  Question notattempted ~
fr=fafea & faumnf fago 5 gfm:
(4) I H el g < (B) T H ST g HIR Tedhe
) TTHE IHTH (O) 9 H ge gon 9w
() HFuidyH

1}’5. Which of the following is/are done to prevent rusting of iron ?
(@)  Coating of chromium on iron objects
(b)  Storing iron objects in water
(c)  Greasing of iron objects
(d)  Mixing iron with other elements to produce rust proof alloys
Choose the most appropriate answer from the options given below :
(A)  (b)and (c)only (B)" . (b)only _ ©
(D)  (b),(c)and (d) only (E)..._Question notattempted
Frerfafiaa 4 & wen wie =1 S e @ s fag e
(@) e H e WA wAE
(b) e F FEgH w1 S | e
(© @ = Fegsi vl wm

(9 e N 1 Tl & e foremnt Sin A1 e Ay (wata) fser s
4 feg e faskedi # 4 waifuds sugaa swgd

(A) & (b) 3 (c) ) Fa (b)
(D) &Fd (b), (c) 2R (d) ©)  srEfE A

& P-1/v13 26

(a). () and (d) only

©) & (a), (c) 3R (d).
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26, Large and bold designs ang iJattems are printed in which of the following place of Raj:asthan ?
E: (A; }3 iir:ler (B)  Churu ©  Jaipur
. O ofhpur . (E)  Question notattempted
% W%ﬁqﬁmﬁﬁmmwa@aﬁ;zﬁ—@ ez ofit e gfga ol S €2
@) TR ® g @Q R
. D) SR ®  orEfE e

,/.,/ Who fo@ded tl_le city of Ajmer ?
(A)  Vigrahraj

2 o S (B)  PrithvirajIII ©  Armnoraj
Ss)fﬁ( ;‘1%:}:;] 29 (E) Quesfion notattempted
a) forems ®)  YEREI © R
@y €) st v
The surface of some metals like Iron js corroded, when they are exposed to for along period of time.
(A)  water and sunlight B)  moistair (©  dryairand sunlight
- (D) water . ()  Question notattempted y
i W%éﬁ?ﬁ%aﬁmﬁﬂﬁﬁ(ﬁﬁ%@)aw%mﬁﬁaww H ST/ e T S )
(A) VT SR ER T ® omiuy © = arg SRR b
O & (E) SgaRaws

. Which one of the following is the “vision statement of Royal Rajasthan Foundation ?

¥ (A) TheRoyals way (B) Aurat hai to Bharat hai
~ (O Royal Rajasthan Loyal Rajasthan (D) “Lov
"~ (B Question not attempted

;ﬁmﬁ@ﬁwmtﬁ@mm‘mw'w

- Statement (E In Rajasthan the construction of Bawaris was done for individual and social use.
. Statement (In): The city of Bundi is known as the city of stepwells due to the prominence of Bawaris there.
Inthe light of the above statements, choose the most appropriate answer from the options given below.

b (A Statement (I) is correct but Statement (II) is 'incorrect.

Statement (I) is incorrect but Statement (I1) is correct.

Both Statement (I) and Statement (II) are correct.

b Both Statement (I) and Statement (II) are incorrect.

" ®  Question not attempted.

F)) ﬁnﬁmﬁﬂﬁ@ﬁmﬁﬂﬁm "’WW%WMWW

B () z@maﬁaﬁaﬁmﬁmﬁmmﬁm%w%ﬁmﬁmm%l
| TR et 3 e 1 Pt famedl 4 Wi S s ;

A wem () g 3, P e () IR

Y e (1) srwe 3, foreg e (1) T ¥

HYT (1) AR e (1) I FA €

T (1) iR wYT (1) AT 3T9A T |

BREIGRC|
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31/ Which of the following is the most ductile metal?

s

Copper
(A)  Silver ® Gold 1 ©
O)  Aluminium (E)  Questionnot attemptec
Frefoien § ¥ = @ TR afus T u@}ducu\c metal) & ? o
&) =R ©
O TftEm @) TTaRa e |
132, First major irrigation project in India in which Sprinkler irrigation system has been made mandatory is !
(A)  Upper High Level Canal Project (B)  ParwanMajor Project
©  Nokhila project <~ (D) Narmada Canal Project
(E)  Question notattempted
wﬁma@mmﬁmmmmm@nﬁ% €
(A9 W TR AR T AT (B) TEH ges YrEe
@ e s D) T TR uiEs
B FIERETH
133.

The portion of agriculture produce which is sold in the market by the farmer is called
(A)  Marketed surplus (B)  Subsistence produce
(D) Intermediate goods

(E)  Questionnotattempted
ﬁmw%mﬁmﬂmwﬁﬁmm%m%
a) foum s

(D) FEEs |l

(© Final goods

© T Tw

13} Which among the following places was nat a ) centre of the revolution of 1857?
(&)

Ajmer (B)--- Jaipur © Auwa’
(D) Neemuch (B)= Question not attempted °Q(‘
Trfefad § & i W M 1857 i shifd s s & o012 ng@f‘
(A) SR ®), AR =N\ / 3T
© ) SR
1357 In Micelle formation, hydrocarbon tail is
(Choose the most appropriate option from below) ‘
(A) Variable (B) Towards any side ©  Outward
(D) Inward (B)  Question not attempted 2
teeli ce bt e cr Aok S
(fr= 1 & Wit suga fasmed 91) .
() iR (Br ot o o © Gﬂawwﬁa‘n%
(©) it - I 7 !
13}.

The first attempt to provide aqu antltatwe law concermng the trophiclevelsina community was given by]?;S
ecologist
(A) RobertOdum (1971) (B)

Ppler Lmdemann (1918) (©  Raymond Lindeman (1% 42%
(D) Charles Elton (1927) (B)  Question notattempted
mmﬁﬁw%wunwmmmmaﬂmm aﬁamﬁfwﬁaﬁﬁaﬁ_ﬁ
7 feran T A
@) e 31reH (1971) ®) ¢ n‘l‘a %‘%ﬁ" (1918) © e fiRE (1942)
(D) T T (1927) (E) 3TTaRd wH
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P (4
¢ A

13y Mukundara and Bundj hills

i i jasthan ?
are|] i i i iographic regions of Rajas
(A)  South-Eastern p] ¢ located in which of the following physiograp

ateau regijon Aravali region
S G dsenpinergey @ Al
T % B Y 4 ST 88 & ey e gt ot feor 22
(A)/ farft-get var gy ®) Srreh i
© e e e o (D) et = A

138. Tooth enamel is made up of .
7 (4) Calcium Sulphate (B)  Calcium Chloride (©  Calcium Carbonate
(D) Calcium Phosphate

T s R (E) Question not attempted
() e g g B) e wREe © Hfewmm ma’a?qj\
lg& How many of the following forts diq Rana Kumbha built in the Mewar Kingdom ? \ & Y4
TSN AT T Pt 9 oy Pt e 2 V@
&y 32 B) 34 © 28 - 5
©) 30 ()  Questionnot attempted / STARA Y9 ~ > 2
40.. Two bulbs are rated as 80 W, 220 Vand 120 W i §
v T 9T 80 W, 220 V AR120W, 220 v & T H Yo fR T ¥ 1 S r wht w5 UM §
@A) 1:2 | ®) : o0
(D_)/ 253 (E) 3
1. Ourbody works within the pH range of : 2
7@ 90to102 B) 4.0to48 © 55t065 =
D) 7.0t07.8 (E)  Questionnot attempted
P AR 5 T (pH) 1 (S0 o g2 o ,7'}/’:‘3)
Ay 9.0 ¥ 102 (®) © 55865 @77 A
D) 70%78 (E) STgIRa W

142, How many of the following Karkhana (factories ) established by Sawai Jai Singh associated with textiles ?
| e 3 o s @ Wiy e A @ Read SrEn T R 2

(A 34 (B) 36 - © 30
LD 3 ’ (E)  Question not attempted / 3Txfd w¥T
j 43, 1.1 : Py ticipated in the fourth Quad Summit in May 2022, which was held in :
- (?\dxan Prime Minister particip (B) Afghanistan (©  Brazil
£ (D; & J:Ipana (E)  Question notattempted

orw. i . »

b ngmﬁ%-;mg 2022 H SIS <Y 7S (Quad) e W= § wm e, fSroet s ganan
* (A) Wﬁ B) 3T‘F’Hﬁ'§ﬂ7{ﬁ © SNl 9

O T ()  STqaia o

4 : . . tle has been used in CrOS.ébreeding programs from Netherland ?
e IRI“““‘ which exotic breed of cat (B)  Holstein-Friesian (©) Red-Dane
) Jersey ] (B)  Question notattempted
WﬁBrown-S%Vl;:TH s el W AATr it o el T o swim e o
TIg— ‘ ®) wewd-fefam (© <&A-T (Red-Dane)

(D) ‘Rl-ﬂ?ﬂ:r (E) I 3 By

9 P.T.O.



14§, Tooth decay starts in our mouth when pH of the mouth is lower than:

TR HE H Jidl hl WS a1 Y& Bt & 59 4§ 61 9 T (pH) A F9 o 8
©

@) 10 ®) 7.0
(E)  Question notattempted / 3Tafd 971

5.5

working environment for

D) 35
14§/ According to Sustainable Development Goal which'goal is to promote safe and secure
all women and men by 2030 ?
(A)  Decentwork and Economic Growth ~(B) LifeonLand
(D) Sustainable cities and communities

Industry, Innovation and Infrastructure

©
(E)  Question notattempted

TRETIAME?
(A) 3T FM IR il foemrg

© e, TEER iR g g

mﬁmw%m%&wammowwﬁmaﬁ WW%WE@“’@T

143. Which of the following saint is also called as environmentalist due to his attachment to the environment ?
(A)  Jambhoji (B)  Jasnathji - (© Dhanna
(D) Pipa (E)  Questionnotattempted
ﬁmﬁ@aﬁ@%mﬁmﬁm%ﬁm%mwﬁmﬁgﬁmm%’
(A) SISt B)  SFETerST ©
D), G ®) aa?rﬁjjw }_ ,
14}, “Saheliyon Ki Bari”, a garden for the ladies was built by in Rajasthan.
(A) Maharaja Sawai Jai Singh IT (B) #King Machkund
(© Diwan Hindumal D) “Maharana Sangram Singh IT
(E)  Question notattempted
TSrEY 4 Afeansdi & fag ' gferal =t a6t e
(A) TERSTEER wE fden
© fRam fégma |
(E) @jﬁﬁﬁ a1
14" l Regur Soil is found in which of the following in India ?
(A) Deccan Plateau (B) IndianIsland group
(©  Northern Plain (D) Himalayan Region
(E)  Question notattempted
frafafaa § 9 yrg & forg Tm § R 937 9t St § 2
(A) TFPTHTISR (B 195l
Cy Tl T O)
(B) gaiaye
2 What are Pateliya, Bichniyon and Lapar ? LA/
(A)  FolkDrama (B) Playmg instruments © Folk Songs
(D)  Folk Dance (F) Quesuon not attempted
'qéﬁvm'f fafear sk arem @0 € ? pens®
‘ B @ Qr T g

W;azmdarara“{w@l

e s B
SRt Gl
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